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PIANO SECONDO

APPARTAMENTO 3:                         SU=mq 6.09

APPARTAMENTO 5:  SA=mq 9.67   SU=mq 50.07

VANI CON ALTEZZA DI m 2.40

VANO CON ALTEZZA INFERIORE A m 1.80

C.T.

copertura piana

copertura piana

loggia mq 6.82

H=2.40 ingresso mq 1.67 disimpegno mq 2.02

soppalco mq 6.09

loggia mq 1.35
H=2.40

dis
im

pe
gn

o m
q 1

.27

balcone mq 1.50

1.5
0

2.4
0

bagno   mq  4.37
             si= mq 1.26
             sv=mq 1.26

soggirno

pranzo  mq 23.81

             si= mq 5.10

             sv=mq 7.20camera mq 11.47

            si= mq 2.55

            sv=mq 3.60

ripostiglio mq 8.85
              si= mq 5.17
              sv=mq 5.70
              H=4.20
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